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1. The Vgg multiplier. Find the wvaluas of ¥ and the incremental resistance between x and

ground? Vpg = 0.7V ' { 20% )
I =10 : =
mA hfe 500
hie = 10K
Rrg = hge = 0.
2, The amplifier as shown. Find voltage gain. input and output impedance. ( 204 }
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to realize m low-pass filter with a corner frequency of

3, Design the OP-amp. RG circuit

20 KHz. and low-fre&uency gain of 12. {:Cf { 20% }
Pt AAAAN et
B Rf

A AN -

t 2.7k
| E 1
4, An OP~amp has a rated cutput voltage of = 12 ¥ and a slew rate of 1 ¥/us. What 1= its

If an input sinusoid with freguency [ = 58y iz applied to & unity-
ximum possible amplitude that can be

full-power bandwidth?

gain follower constructed this CP-amp. What is the ma

accommodated at the output without incurring glew-induced distortion? { 20% j
B - ( Ty= full-power bandwidth. )
5, The difference amplifier as showh.. Find voltage galn. { 20% }
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